20254 E F11EIEAXRIANGI/NSL—R—IL T —45 |HEER
[ &F J7—ARFF(ESaY LE1S5—SHUREERS ]

3] B 6 B 14 B (3% L#EH)
= 15 LERLET HWHIESAKABE
£ 1 #E
21 — 16
BIRERIT I
LoH 940 R { }0 tAa—TTIY
( 1 28 21 — 12 ( Of% 3B
£ 2 HE
21— 9
F)—TY 5 0 1ETY
LyR7z=wH R LY ILR
( 3 OB 21 — 19 ( 1B 280
£ 3 #HE
21 — 19
s 5 0 HHE&Z
HARFA2 ROARRIL T4
( 3 OB 21 — 17 ( OF% 3B

A2 6 A 15 B (548 BHEH)
= 15 LERLET HHIESABE
£ 1 RE
21 — 11
IR EIRTT HE®&Z
b/?J'/rb«rzﬁ‘Z RIARRIL T4
( 28 2B 21 — 16 ( Of% 4B
£ 2 #HE
21— 10
F)—T INFYIZYiE
LykZz=viR TENVR
( 48 0B 21— 9 ( 18 380
% 3 &HE
21 — 14
INFI=D 0 A1ETY
TIL—R)LR LY LA
( 4B% OB 21 — 12 ( 18 38O
£ 4 RHE
21 — 11
VS L —pu s
HOR-FAY }0 A3 —TIVY
( 48 OB 21 — 11 ( Of% 480

ERXRNL—HR—ILbyT)—JINGIERITEER



